Problem Solving Week Beginning 4th January
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6. Henry has drawn a rectangle with a perimeter of 44cm, but a paint splat has covered the measurement of each side. 
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7. This wall is made up of stones. Each stone has a length of 16cm and a total perimeter of 42cm. 
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What could the measurements of each
side be in cm?




image7.png
1écm

Calculate the perimeter of the whole wall.
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Aisha is working out the perimeter of a rectangle.

She measures the length of all 4 sides and labels the rectangle.
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How do you know that Aisha’s measurements are wrong?
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Is it possible to work out the perimeter of each shape?

Circle your answer.
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How do you know whether you can or cannot find the

perimeter of each shape?
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Which of the hexagons has the greatest perimeter?

Show all your workings.
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A shape is drawn on a square grid.

Part of the shape is hidden.
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What could the perimeter of the shape be?

Is there more than one answer?
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Each lolly stick is 8 cm long.

Find the perimeter of the shape.
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